SELF-PRIMING CENTRIFUGAL PUMPS FOR POOLS
KENDINDEN EMISLI HAVUZ POMPALARI

DRIFTER

INSTALLATION AND MAINTENANCE MANUAL
KURULUM VE BAKIM TALIMATI

Version: 1.0







ENGLISH

Please read the manual carefully before the installation of your pump.

1. APPLICATION

Drifter is a pool pump of horizontal centrifugal structure to provide uninterrupted circulation of water in swimming pools.
To serve this purpose, it is installed in front of the filter in the pool installment. The pump is designed to move about
the incoming and outgoing water from the chlorine disinfected swimming pool. It is designed together with a pre-filter
in order to protect the pump impeller from substances such as hair that may come from the pool. The plastic basket

within the pre-filter can be taken out to be cleaned when necessary.

2. TECHNICAL INFORMATION

2.1 Max environment temperature: +50°C

2.2 Max water temperature: 0°C-+50°C

2.3 Max working pressure: 2 Bars

2.4 Max inlet pressure: When the pump supply, valve is in closed position, entrance pressure must be smaller than

the max working pressure.
2.5 Mini inlet pressure: Without back flow valve : 3 m, with back flow valve : 5 m

See: The labels on the pumps.

Isolation type: IP-55
Isolation class: F

2.7 Measurements: See the measurements table at the

end of the manual.

2.8 Noise level: Noise level of Drifter pumps are below

70dB.

MODEL Max vertical suction Max vertical suction
(with back flow valve) (without back flow valve)
DRIFTER 5m 3m
2.6 Electrical information: 2.9 Weights:
MODEL Voltage MODEL Weights (Kg)

« DRF-33M * DRF-33M 12,000
« DRF-50M » DRF-50M 13,000
+ DRF-100M 50 Hz + DRF-100M 14,000
+ DRF-150M - DRF-150M 17,000
DR 200 - DRF-200M 19,000
* DRF-300M 23,000
« DRF-80T » DRF-80T 13,000
« DRF-100T 3x230/400V * DRF-100T 14,000
« DRF-150T 3x220/380V » DRF-150T 16,000
« DRF-200T 50 Hz * DRF-200T 17,000
+ DRF-300T - DRF-300T 22,000




ENGLISH

3. INSTALLATION

Ordinarily, Drifter pool pump is installed in between the skimmer
or the balance tank and the filter. Pump should be installed with
the shaft in horizontal position on a flat, solid base, and the
pre-filter lid should face upwards. Pre-filter lid can easily be
opened with a 40° rotational movement in order to take the
pre-filter basket out for cleaning. Pump suction pipe diameter
should be at least equal to the delivery pipe diameter. (see the
figure 1) Pump suction pipes should be installed in a way to
prevent any possible air pockets in the interior. When the suction
distance is more than 10 m, a larger pipe may be selected Fig 1
considering the pressure loss in the system. Below figures show

the right and wrong ways of suction pipe installation.

In cases where the pipes on the pump suction and delivery sides are too long and/or high, pump body must be
supported in the front and back. In such cases putting a check valve on the outlet side is recommended. When there
is more than one parallel pump in the system, putting check valves on the delivery sides of each pump is obligatory.

Pipes and fittings must be carefully tightened.

This pump can be installed in 2 optional ways. Please see figure 2 an 3.

.

|\ Connection with
PVC glue union

|\l PVC male
connection with union

Fig 3

In case of using a suction hose, it must be non-compressible, resistant to vacuum pressure and have reinforcement
spiral. The suction pipe/hose should be as short as possible in order to assure optimum working conditions. It is
recommended to install shutting valves on both sides in order to isolate the pump when necessary. Pump should
preferably be installed on a base against floods and in order to reduce noise.

Fig 2

Note: Pump should never work with the valves in closed position as increasing heat will significantly damage the
plastic body and mechanical seal.

International specifications in general recommend installing the pump al least 2 m away from the
pool side.

Drifter Series

Suction Pipe Size

- DRF-33M 1,5" (@50 mm)
« DRF-50M 1,5" (@50 mm)
- DRF-80M/T 1,5" (@50 mm)
- DRF-100M/T 1,5" (@50 mm)
- DRF-150M/T 2" (963 mm

» DRF-200M/T

« DRF-300M/T

)
2" (@63 mm)
2" (@63 mm)




ENGLISH

3.1 Ventilation: The pump’s motor is cooled by the impeller at the back of the pump. Hence, the pump should be
installed in a well-ventilated place (free from possible freezing).

a. If the pump is installed outdoors it must be protected with an appropriate cover.
b. If the pump is installed in a buried or semi-buried “case”, it is necessary to assure adequate ventilation to keep inside

temperature below 50°C.

4. ELECTRICAL CONNECTIONS

Please make sure that the electrical supply is interrupted before removing the connection case
cover or before any moving or disassembling of the pump.

The electrical connections must be done by a Professional and according to the local standards. The pump must be
connected to an external switch. The voltage and frecuency are marked on the chracterisitcs plate. Please make sure
that to motor is suitable to the electrical supply in the network. The motor should be connected to the electrical supply
as shown in the drawing, using a suitable cable (watertight approved) and in accordance to the local standarts.

4.1 Motor Protection: All versions must be connected TRIPHASE MONOPHASE
to an external motor protector. The pump must be
connected to the outlet mass and the electrical

Star Connection:

installation must have a differential circuit. Wa Yo Vo _L__oWz
T s
5 %@ Gy ©
NETWORK NETWORK
5. STARTING

Pump pre-filter and pump body must be filled with water up to the transparent lid. The pump must never be started
before or during this process. The red arrow on the pump body shows the right rotation direction of the motor. Looking
from the back of the motor, the cooler impeller must turn clockwise.

Reverse rotation of the motor for a long time may cause damage in the impeller body or the diffuser. In such
a situation warranty will be invalid.

In order to maintain maximum suction at the start, when motor is being started, the valve on the delivery side should
be closed, and it should be opened slowly right after the motor is started. If the pump does not begin pumping water in
5 minutes motor should be stopped immediately and water levels in the pipe and pre-filter must be controlled. It should
also be checked whether the installation soaks air or not.

6. PRE-FILTER BASKET CLEANING

Please make sure that the electricity is off before removing the conection case cover or before
any other invertion to the pump.

Pump pre-filter basket should be checked daily, and be cleaned when necessary. Before opening the pre-filter lid,
pump suction and delivery valves must be closed in order to stop water.

Two-piece structure facilitates cleaning of the basket. After cleaning the basket, lid o-ring should also be
cleaned and placed back properly. It should be checked whether the pump is filled with water, if it is, then
pre-filter lid should be placed back and clossed firmly with a 40° rotational movement. After this
process, suction and delivery valves should be opened and water should be released.

Note: Pre-filter should not be cleaned with high pressure water.

3



ENGLISH

7. WINTERIZING

If the pump will not be used during the winter, all the water in the pipes and the pump must be drained by removing the
drain plugs (No.5 in the blow -up scheme). The drain plugs should not be put back until pump starts working again.

8. MAINTANENCE

Please make sure that the electricity is off before removing the connection case cover or before any other intervention
to the pump. The pump is designed to operate without any need for maintenance under normal conditions. When
maintenance will be carried out, greasing the motor bearings and controlling the mechanic seals will be appropriate.

9. TROUBLE SHOOTING GUIDE

PROBLEM SOLUTION PROBLEM SOLUTION

The pump No water in the strainer pot. The pump does Incorrect direction of rotating
Works, but does Pump not purged not work (only three phase motors)
not prime. satisfactorily. a. Change the rotating

Pipe crack in the suction line.
Pre-filter lid is not placed

direction.
The pre-filter basket or the

properly skimmer is dirty or blocked.
a. Check the filter basket. a. Clean the pre-filter basket
b.Rotate the lid to tighten. Water level in the swimming
Too high suction head. pool is too low.

a. Increase the water level
up to the 2 of the capacity.
The piping/hose is partially
blocked by impurities.

a. Clean the piping/suction
Mechanical seal leaks. hose.

a. Max. Suction head must
be 3 m.

The suction line sucks air
through connections.




ENGLISH

10. DRIFTER POOL PUMPS SIiZE TABLE

F G
M (Female Thread)
K (Slip Union)
K
(Slip Union) HH HH
[ R
T N (Female Thread) (
L ] —
E =
—
—
° O
= ' \
A H
DIMENSIONS
PUMP TYPE
K K M A B C D E F G H L
DRF-33M @50 | @50 | 2" | 520 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-50M @50 | @50 | 2" | 550 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-80T/M @50 | @50 | 2" | 550 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-100T/M @50 | @50 | 2" | 550 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-150T/M 063 | @63 | 2" | 580 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-200T/M 063 | @63 | 2" | 580 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-300T/M 063 | @63 | 2" | 580 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313




No | Code - Kod Description Acikl;
1| 0111DRFO1 Drifter Pump Prefilter Body Drifter On Filtre Gévdesi
2| 0111DRF51 Drifter Pump Connection Nut 1 1/2" Drifter Pompa Sikma Somunu 1 1/2"
3| 13111511A Pipe Connection 1 1/2" Streamer 2010-Filtre Boru Baglanti Pargasi 1 1/2"
4| 860090 Blond Gasket For Back Nut @64x5mm Drifter Pompa Rakor O-ringi EPDM 65 Shore
5| 0111STR02 Drain Plug Koér Tapa (Purjor) G 1/4' (L=15mm)
6| 860285 O-Ring For Drain Plug 0O-Ring @11x3 mm EPDM (Sh60)
7| 0111DRF04 Drifter Pump Foot Drifter Pompa Ayagi
8| 0111DRF04H | Drifter Pump Rubber Base @23x21mm Drifter Pompa Ayagi Kaucuk Destegi EPDM 60 Shore
9| 0111DRF110 | Drifter Pump Prefilter Basket and Basket Handle Set Drifter Pompa On Filtre Sepet,S.Tutamak Seti
10| 860116 Drifter Pump Cover O-Ring @140x6mm 55 Shore @140x6mm Drifter Pompa Kapak O-ringi EPDM 55 Shore
11 | 0111DRF03 Drifter Pump Prefilter Cover Transparent Drifter Pompa On Filtre Kapagr Seffaf
12| 0111DRF02 Drifter Pump Pre-Filter Cover Plastic Nut Drifter Pompa On Filtre Kapak Somunu
13| 860118 D62.5x052x4.1mm Drifter Diffuser O-ring D62,5x052x4,1mm Drifter Pompa Diflizér O-ringi EPDM 60 shore
14| 0111DRF11 Drifter Pump Diffuser Drifter Pompa Diflizéru
15| 0111DRF37N | Plastic Head Counter Bolt Inox M6x16 Drifter - M6X16 B.Kontra Inox Civata
16| 860223 @13,5x@8,5x3mm Drifter Pump Counter Bolt O-Ring @13,5x@8,5x3mm Drifter Pompa Kontra Civata O-ringi EPDM 60 shore
17| 0111DRF14 Fan DRF-100 (1 HP) Drifter Fan DRF-100 (1 HP) Drifter
18| 0111STR34 Mechanical Seal Complete Mekanik Salmastra (Komple)
19| 860235 @175x4.5 mm Pump Drifter Body O-Ring @175x4,5mm Pompa Drifter Gévde O-ringi EPDM 55 shore
20| 0111DRF40 Drifter - Rear Body Pump Case 71 Drifter Pompa Arka Kapak 71 Kasa
21| 8500134 M8 Washer DIN 125 Inox A2 M8 Diiz Alti Kése Baslilar Igin Pul DIN 125 Inox A2
22| 8500150 M8x20 Hexagon Head Full Thread Bolt Din 933 Inox A2 | M8x20 Altikdse Bagh Civata DIN 933 A2
23| 8500030 M8x25 Bolt DIN 933 Inox A2 M8x25 AKB Tam Dis Civata DIN 933 Inox A2
24| 0111MTRO7 Electrical Motor 0.75 KW Monophase Elektrik Motoru 0.75 KW Monofaze - 71 Kasa
25| 8500572 M5x20 A2 Inox Star Countersunk Head Screw M5x20 Yildiz Havsa Basli Vida DIN965 Inox A2




TURKCE

Liitfen pompayi tesis etmeden dnce, talimati dikkatli bir bicimde okuyun!

1. UYGULAMA

Drifter yizme havuzu pompasi yatay santrifij yapida bir pompa olup, kullanim amaci yizme havuzlarinda havuz
suyunun sirekli ¢evrimini saglamaktir. Bu amagla havuz tesisatinda filtreden énce tesis edilir. Havuzdan gelen
sartlandirilmis suyu tekrar filtreden gegirmek tizere basar. Havuzdan gelebilecek sag ve cisimlerin pompa fanina zarar
vermesini 6nlemek amaciyla bir 6n filtre ile birlikte tasarlanmistir. On filtre igerisindeki plastik sepet kirlendiginde
temizlemek Gzere gévdeden disari alinabilir.

2. TEKNIK BILGI

2.1 Maksimum cevre sicakhgi: +50°C
2.2 Maksimum su sicakhigi: 0°C-+50°C
2.3 Maksimum c¢alisma basinci: 2 Bar

2.4 Maksimum giris basinci: Pompa basma vanasi kapali tutuldugunda, giris basinci izin verilen maksimum c¢alisma
basincindan diisiik olmalidir.

2.5 Minimum giris basinci: Klapesiz: 3 m, Klapeli: 5 m

MODEL Maksimum D|k'ey Emig Maksimum Dllfey Emis
(Klapeli) (Klapesiz)
DRIFTER 5m 3m
2.6 Elektriksel bilgiler: 2.9 Agirliklar:
MODEL Voltaj MODEL Agirhk (Kg)
. DRF-33M - DRF-33M 12,000
- DRF-50M + DRF-50M 13,000
+ DRF-100M 50 Hz - DRF-100M 14,000
* DRF-150M - DRF-150M 17,000
: Bgi:gggm - DRF-200M 19,000
- DRF-300M 23,000
- DRF-80T + DRF-80T 13,000
« DRF-100T 3x230/400V + DRF-100T 14,000
+ DRF-150T 3x220/380V - DRF-150T 16,000
- DRF-200T 50 Hz - DRF-200T 17,000
* DRF-300T - DRF-300T 22,000

Bkz: Pompa tizerindeki etiket bilgileri.
Izolasyon tipi: IP-55
Izolasyon Sinifi: F

2.7 Olgiiler: Bkz. Talimat sonunda ki 6lgli semasi.

2.8 Guriiltii Seviyesi: Drifter pompalarinin girlti
seviyesi 70 dB’in altindadir.



TURKCE

3. POMPANIN TESISi

Normal olarak DRIFTER havuz pompas! skimmer veya denge
tanki ile havuz filtresi arasinda tesis edili. Pompa, d,z ve
saglam bir kaide Uzerine yatay bir bigcimde, 6n filtre kapagi
yukar bakacak sekide monte edilmelidir. On filtre seffaf
kapagi, on filtre sepetinin alinip temizlenmesi amaciyla 40 °’lik
déndirme hareketi ile sdkllerek rahatca ¢ikarilabilmelidir. En
kétl halde pompa emis borusu, basma borusu ile ayni ¢apta
olmalidir. (Bkz. Resim 1) Pompa emis borulari herhangi bir
hava cebi olusumuna izin vermeyecek tarzda tesis edilmelidir. .
Emis mesafesinin 10 m'yi gectigi durumlarda, hattaki basing Resim 1
kaybr g6z 6nlinde bulundurularak gerekirse boru segiminde

bir buyuk cap tercih edilmelidir. Asagida ki sekil emis borusu

tesisatinda ki dogru ve yanliglari gosterir.

Pompa emis ve basma taraflarinda ki borularin uzun ve/veya yiksek olmasi durumunda, pompa gévdesi 6n ve
arkadan desteklenmelidir. Bdyle durumlarda basma tarafina bir adet ¢ekvalf konulmasi uygun olacaktir. Sistemde
birden fazla paralel pompa kullaniimasi halinde, her bir pompanin basmasinda ¢ekvalf tesisi zorunludur.

Plasik boru ve fittingler dikkatli bir bicimde sikilmalidir.

Bu pompa, opsiyonel 2 baglanti ile kurulabilir. (Bkz. Resim 2, 3)

-

(| |\ PVC yapistirma
rakorlu baglanti

-
Emis hattinda hortum kullaniimasi halinde, s6z konusu hortum vakuma dayanikli, spiral takviyeli bizlismez tipte
olmalidir. Emis hattindaki boru veya hortum mimkiin oldugunca kisa tutulmalidir. Tesisatta pompanin emme ve basma

taraflarina birer adet vana tesis edilmelidir. Pompa, guriltiyl azaltmak ve yeralti makina dairelerinde su basma
ihtimaline karsi tercihen bir sehpa Uzerinde tesis edilmelidir.

PVC erkek rakor
ile baglanti

Resim 2 Resim 3

Not: Pompa vanalari kapaliyken asla calistirimamalidir. Aksi taktirde artan sicaklikla beraber plastik gévde salmastra
onemli él¢ude zarar gorebilir.

Uluslararasi sartnamelerde havuz pompalarinin havuz kenarindan en az 2,0 m uzakta tesis
edilmesi 6nerilir.

Drifter Serileri

Emis Boru Capi

- DRF-33M 1,5" (@50 mm)
« DRF-50M 1,5" (@50 mm)
« DRF-80M/T 1,5" (@50 mm)
« DRF-100M/T 1,5" (@50 mm)
< DRF-150M/T 2" (@63 mm

» DRF-200M/T

+ DRF-300M/T

)
2" (@63 mm)
2" (@63 mm)




TURKCE

3.1 Havalandirma: Havuz pompasinin motoru, arkasinda ki motor pervanesiyle sogutulur. Bu nedenle pompa iyi
havalandirilan ve don tehlikesine maruz olmayan bir mekanda tesis edilmelidir.

a. Pompa agik havaya tesis edildigi taktirde, uygun bir &rti ile dis hava etkenlerine kargi korunmalidir.

b. Pompa tam veya yari gémili bir mekana tesis edildigi taktirde, mekanin sicakli 50°C’yi ge¢meyecek sekilde
yeterince havalandiriimalidir.

4. ELEKTRIK BAGLANTILARI

Pompa motor klemens kutusunu agcmadan veya motora herhangi bir miidahaleden once,
elektrigin kesildiginden emin olun.

Elektrik baglantilari ehil bir elektrikgi tarafindan ve yerel standartlara uygun olarak yapiimalidir. Pompa ana panaodaki
bir salterden komut almalidir. Uzun siire ¢calismayan motorun devreye alinisinda asagidaki islemler yapiimaldir.

1. Yataklar kontrol edilmelidir. Yataklarin giiriilti ¢ikardiklari veya isindiklari tespit edilirse rulmanlarin degistiriimesi gerekir.
2. izolasyon direnci kontrol edilmeli, 25°C sicaklikta ve 500 voltta élciilen izolasyon direnci 2 M ohm’dan az ise
motorun sargilari 80°C sicakliktaki bir ortamda kurutulmalidir.

Topraklama: Biitiin motorlara standartina uygun bir topraklama yapilmalidir. Topraklama iletkeni klemens kutusu
icinde toprak sembolii ile isaretlenmis uca baglanmalidir.

Koruma: Motorlar asir ylklere karsi motor etiketinde belirtilen tam yiik akimina uygun sigorta, termik, termik salterler
veya elektronik koruma devreleri ile korunmalidir.

Yedek parca ve kullanim 6mrii: Bakanlikga tespit edilen kullanim émri ve Ug FAZLI BIR FAZLI
yedek parga bulundurma zorunlulugu 5 (bes) yildir.

Sebeke baglantisi: Motorun etiketinde yazili olan degerler dikkatle Vildiz Baglant:

incelenmeli ve motorun baglanacag! sebeke gerilimi ile motorun etiketinde Vg)Z_UOZ_\g _L__OWZ
yazilmis olan gerilim degeri ayni olmali veya sebeke gerilimi, motor etiketinde T W,
verilen gerilim degerinin %95 ile %105’i arasinda olmalidir. Normal dretimde Lﬂ \C/>1 v% _(SU1 o
klemens kutusu icinde Monofaze motorlarda 4, Trifaze motorlarda 6 baglanti

ucu vardir ve kisa devre gubuklarinin baglantisi asagidaki gibi yapiimalidir. SEBEKE SEBEKE

5. iISLETMEYE ALMA

Pompa onfiltre ve gévdesinin ilk calistirmadan 6nce seffaf kapak alti seviyesine kadar suyla doldurulmasi gerekir. Bu
islem yapilmadan veya bu islem esnasinda pompa kesinlikle calistirimamalidir. Pompa gdvdesi tizerindeki kirmizi ok
motorun dogru dénls istikametini gosterir. Motorun arkasinda duruldugunda sogutma faninin saat yoniinde
dénmesi gerekir. Motorun uzun siire ters dénmesi fan ve difiizérde hasara yol acabilir. Bu durumda garanti
gecersiz olur. ilk baslatma aninda maksimum emisi saglayabilmek icin, basma tarafindaki vanayi kapattiktan sonra
motor calistirlmali ve hemen ardindan basma vanasi yavasca acilmalidir. Eger 5 dakika icerisinde pompa suyu
basmaya baslamiyorsa; motor derhal durdurulmali, su seviyeleri ve tesisatin hava emip emmedigi kontrol edilmelidir.

6. ONFILTRE SEPET TEMIZLiGi

Pompa motor klemens kutusunu agmadan veya herhangi bir miidahaleden énce, elektrigin kesik
oldugundan emin olun.

Pompa onfiltre sepeti giinliik olarak kontrol edilmeli ve gerekirse temizlenmelidir. Onfiltre kapagi agilmadan énce
pompa emme ve basma vanalari su temasini kesmek lzere kapatiimaldir.

Sepetin iki parcall olmasi temizlikte kolaylik saglayacaktir. Sepet temizliginden sonra pompa kapak
contasi da temizlenmeli ve yuvasina oturtulmalidir. Ardindan pompanin suyla dolu olup olmadigi kontrol
edilmeli ve doluysa 6n filtre kapagi yerine oturtularak 40°’lik ddndlrme hareketi ile sikilmalidir.

Bu islemden sonra emis ve basma vanalari acilarak pompaya yol verilmelidir.

Not: Pompa 6n filtresinin basingh suyla yikanmasi uygun degildir.

10



TURKCE

7. KIS BAKIMI

Pompa kis boyunca kullaniimayacaksa; tesisattaki ve pompa icerisindeki su, agilim semasindaki (5) nolu koér tapalari
s6kmek suretiyle bosaltiimalidir. Pompa tekrar kullanilana dek tapalar yerine takilmamaldir.

8. BAKIM

Pompa motor klemens kutusunu agmadan veya motora herhangi bir miidahaleden 6nce, elektrigin kesik oldugundan
emin olun. Normal calisma kosullarinda pompa bakim gerektirmeden calisacak sekilde tasarlanmistir. Bakim
yapilmasi istendiginde motor rulmanlarinin yaglanmasi ve mekanik salmastranin kontrolli uygun olur.

9. HATA GIDERME TABLOSU

Emis tesisatinda boru catlagi.
Onfiltre kapag yerine diizgiin
oturmuyor.

a. Filtre sepetini kontol edin.

b. Kapag gevirerek tekrar
sikin.

Emis yluksekligi gok fazla.
a. Max. Emis ylksekligi 3 m’dir.

Emis hatti baglantilarindan
hava emisi.

Mekanik salmastra kaciriyor.

PROBLEM cO6ziom PROBLEM cOzim

Pompa emis Onfiltrede su yok. Pompa Pompa dénis yoéni yanlis.

yapmiyor. Pompanin havasi alinmadi. performansli (Yalnizca 3 faz motorlu
calismiyor. pomnpalarda)

a. Dénus yonu dizeltiimeli.

Onfiltre sepeti ve/veya
skimmer cok kirli veya tikall.

a. Onfiltre sepetini temizleyin.
Havuz su seviyesi ¢ok disuk.

a. Su seviyesi en az
kapasitenin yarisi olmahdir.

Boru hatlari kismen tikal.

a. Boru iglerine susta
salinarak temizlenmelidir.

11



TURKCE

10. DRIFTER HAVUZ POMPALARI OLGU TABLOSU

M (igten Disli)
K (Kendinden Rakorlu)
1 K
(Kendinden Rakorlu) \ ‘ ‘ ‘
JE
M 4
= e—- otenDii) |
| —
L ———
E C
————— e
_—
—
D f
A H
. OLGULER
POMPA TIPI
K K M A B C D E F G H L
DRF-33M 950 | @50 | 2" 520 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-50M 950 | @50 | 2" 550 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-80T/M @50 | @50 | 2" | 550 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-100T/M @50 | @50 | 2" | 550 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-150T/M 963 | @63 | 2" 580 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-200T/M 063 | 963 | 2" 580 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313
DRF-300T/M 063 | 963 | 2" 580 | 206 | 307 | 105 | 271 | 262 | 236 | 205 | 313

12






o)

« We reserve to change all of the articles or contents of this document, without prior notice.
« Firmamiz bu belgenin iceriginde haber vermeksizin degisiklikler yapabilir.




